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2AM: N2
HE: GEHE H2S 9IE DI
Sl RYHYS HEN 55 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- XA I8 € SFEDNAN2E oK)
70,0003 200 A 14,000
- KA g2 A DM S(A)
50,000 100 A 5,000
- XA HMEDXAME2E )
70,0003 100 A 7,000
M2+ SEIXAM(A4) 55,0008 *158 A 825
—M2I2=2 MDA (@RE AX)
70,0002 »485F A 3,360
OXNAM &4 39,150
-NgA HIl2 ¥ SEAXNM(EMA)
30& *450,000A 13,500
-~ XA MYgDXM(SAHA)
30& 100,000 3,000
—Hel= MEDXA(EAMA)
30& 50,0004 1,500
- XA B2 & SEDXNN(SEA)
453 +150,000A 6,750
- XA MYgDXM(SEA)
453 +200,000A 9,000
-Hel=e MELXM(SEA)
453 +120,000A 5,400
OZ& LIAN € HUH2BYES S5 3,325
- 180,000 » 158+ A 2,700
—UEEE 125,000 55 A 625
SdR20IAMS 8 292,980 288,560 4,420
201 ¢er24] 292,980 288,560 4,420
02 =224l 292,980 288,560 4,420
OFIIZ(SELE)Y sAZ2 fELYSE 172,680
-7l 2,130&16,000A 34,080
— Bt 330& 420,000 138,600
ONEE HEILNANXASZANRBESE 120,300
-&7I 2,130&10,000A 21,300
-t 330& *300,000A 99,000
Mg &= 20,186 62,645 A 42,459
201 Let2d] 17,786 19,445 A 1,659
01 At 22l 6,330 7,266 A 936
OSJgasaEs+a 360
-YRYARHS L4
1,000& x30A4 123 360
OZ3MH™Z(RSA, Xt JIEFAHAH) A Y] 1,650
- 2882 S 330,000& x5 1,650
OMEXZ02tE X & WAMXZ OFZFEA S
=]l 8,000 x34 x45H x4 & 4,320
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2N N2

HE: GEHE H2S 9IE DI
Sl RYHYS HEN 55 CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02 3322l 11,456 12,179 AT23
OHSEHIIANAEMOHSMNAERZ
40,0003 «5CH 123 2,400
OMERNSENHEERNS =2 1,500
Oxt& KA 2teltl 2,100,000 = 1CH 2,100
OMEZEelxzg A3 396
— Xt & XHAl 396
ONA=LHE MEFEOE=+E S 5,060
- MBHEXS =2 3,960
- dHBLFE S 02 1,100
202 Odl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OBZISH+Y FLEE Ofb|
200,000& x3H x4 3| 2,400
ME 23223 299 1,960 1,960 0
201 £B-2d| 1,960 1,960 0
01 At 22l 1,960 1,960 0
OXNLNAAAR S B =G 70,0003 x7H x43] 1,960
NEHR 245t 2,700 3,000 A 300
203 H R =&l 2,700 3,000 A 300
03 A FXH S =AY 2,700 3,000 A 300
OoNZgREda=d 2,000,000& *90% 1,800
OMYFRAMNEI L 42 BHSET
1,000,000& *90% 900
HegZelgdst LA & A 32,800 32,800 0
201 et 1,900 1,900 0
03 A2 Z Hl 1,900 1,900 0
OMEISS2E0tSUE 1,900
303 Z& =3 30,900 30,900 0
01 Z& 3 30,900 30,900 0
OWEE XYM & ML= = Zo3 9,900
OBNEE M=+ Loz 20,000
ON=g MEAFelEI A3 1,000
NEAMARI =2 st 6,815 6,355 460
306 ¢ 32 6,815 6,355 460
01 &3 6,815 6,355 460
OXNLNARE EAHS 6,815
SHHES NEFEOIE A L SAl 148,809 145,489 3,320
= 74,106
T 74,703
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SH: M2 D
HE: GEHE H2S 9IE DI
=

=2
=
ol erest DI KA

= o

d 2 DAl (ol @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
HEFEHIPAZAH(EALD B &) 31,912 27,152 4,760
= 15,657
- 16,255
101 @14 Hl 14,802 13,802 1,000
2 7,102
- 7,700
04 JIZHHZ2XRHEE S 14,802 13,802 1,000
OFEIAXZIANEZAQIAHY| 14,802
“OIZS(FR, 0% B2 TE)
71,8373 18 %180 12,931
= 6,466
- 6,465
-4 282 1,271
S0HZEH 12,930,660& *4.5% 582
= 291
T 291
AL EE 12,930,660 *3.23% 418
= 209
- 209
nNESE 12,930,660& *0.8% 104
= 52
T 52
MTHEE 12,930,660& *1.05% 136
= 68
- 68
FILEH 417 ,660& x7.38% 31
i 16
T 15
-HEHOMZ 300,000& »x1H 300
-SXNZEAE 300,000& »1H 300
201 LBt2d| 12,910 10,350 2,560
- 6,455
- 6,455
01 At 22l 12,910 10,350 2,560
OFINANAIMUS 10,510
~ZEDIANEN S M 550008 <427 2,310
= 1,155
T 1,185
—HAARE 5,000
ZelHEN 150,000& 1574 2,250
- 1,125
T 1,125
CEU(ZA) 550,000 *5H 2,750
= 1,375
- 1,375
- &AETX 3,200
- =SAS X (A4) 20,000 160 A 3,200
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2N N2

MM UMY SE2E s WA
Sl eIEE WEEEIIH ZA L DA CEEEED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= T.600
- 1,600
OFSTAZAZE S204AH]
8,000 x3H 100 2,400
2 1,200
- 1,200
202 o4 | 3,000 3,000 0
2 1,500
- 1,500
01 2L HI 3,000 3,000 0
OFEIIAS E XA Y 20,000& 3% x50 3,000
= 1,500
3 1,500
405 KHoHFE S HI 1,200 0 1,200
2 600
5 600
01 XA 2B F S| 1,200 0 1,200
OFEIAXZAS 2LIH LA 300, 000& =4 LH 1,200
= 600
- 600
NE FEIAZA(IIHRZBS L 2Al) 112,705 113,585 A 880
= 56,353
- 56,352
201 et d| 112,705 113,585 A 880
= 56,353
- 56,352
01 AP 22| H| 112,705 113,585 A 880
O&s4E£=2 108,835
-1/1 JI= 16,650= *6,402& 106,594
= 53,297
- 53,297
-6/1 J|= 2802 *8,002& 2,241
= 1,121
- 1,120
OFRSMIIIZBARIE oS
70,000 *7H *33] 1,470
= 735
- 735
OALAZEOHRA,EH| 600,000 *43| 2,400
= 1,200
- 1,200
IHE DA AIOHE =EDIA ER) 4,192 4,752 A 560
= 2,096
- 2,096
201 et d| 4,192 4,752 A 560
= 2,096
3 2,096
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2N N2

Ha: NFEME 228 A8 D3

[

ol REE HEEEIIA ZA L BA (sl &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 4,192 4,752 AN 560
OFEINAALR =S 4,192
-89 70,000& *9JH 4 3] 2,520
= 1,260
= 1,260
—2rE 22,000& 194 x43] 1,672
= 836
- 836
HEMSHAH (M) 198,740 202,808 N4, 068
Jl2 &bl 198,740 202,808 N4 ,068
Jl23Hl 198,740 202,808 N4 ,068
201 et A | 41,840 42,488 N 648
01 AFR22t2l Yl 41,840 42,488 N 648
OsAIEX #¢ 20,000 x198t A x12& 4,560
OEH ¢ 8,120
—-TglfHe &Y 175,000& = 10CH x4 3] 7,000
—Tgiy &8 uWE 280,000 *x4CH x13] 1,120
OEMSgII242H| 10,000& x45H = 12& 5,400
OAZ2HAZ2 RS A
8,000& x5 .54l x45H x12& 23,760
202 04| 151,200 154,560 A 3,360
01 2LHOHI 151,200 154,560 N 3,360
OZ2U O bl 280,000& x45H x12& 151,200
203 R =X | 5,700 5,760 A0
04 2SI L RF=AH| 5,700 5,760 A 60
ORNSgIRF&Y| 5,700
— 3021 0] &t 400,000& 128 4,800
- ZolA 5,000 x15H x12& 900
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